EARAROBEEIERT — 2 N— IBISH —F

2012568128 (K) 6EIEMH4H

m#3%4ﬁi C1 ESRE
[A&4£] 1% :350,000” ~ 23#%&:63,000”  33#%&:31,500MH  43%&:17,500 . 57 :10,500 {
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N B ABIAE . 01— _ B (Al
S RaL s 4 — 7 | BE 1.(5_2).5 2-2-1-1 [ 39.0 2 (4_538) JE:EIEE& )
RZFyg—HFI—IK B xFAHFHI-N D FE—
XA xRNy T—Ib H o4 glgfg% 1( 752t;s 7722 (387 — | 4 4_65 §§§£t ()
RO—VRA LA B:IYRT 1 X0y b D lza’ g
Ele:5= N : -3-3- - HAHE (FEk)
KYFoYy T # 6 s 1(.15/22.>6 3-3-3-3 | 38.8 5 <4_311) 1&5‘%%
L:2TIkEQav 44— B:YIdx—-35 fiigizae]
N AZmER : ~5-8— - XIBEE (M)
LA LA HH S 4 5 o 1.(533).1 5-5-8-7 | 39.2 1 fzz) FRLE
R:TZRAT 48— Biov R=—T497 () HAa-KL—Ya>AETI7
slglg| 7RI ¥ 771> 5 Jsﬁi_ 1(/53;;; 6-5-4-4 |39.2( — | 2 | 481 gg%i ()
QUL EUIYRIR BiHT R AT W) 155325, 4
S 411 | REEL 1:53.2 8-7-9-9 |39.1| — 8 440 | EERiER (FEl)
EH 3 2B —FKRA T v — 56.0 1/2) 4 EIE‘]%
R:vrl) BIUT—ZE— ¥ T L
= 5 io4 | AKE 1:53.4 9-9-7-5 [39.3| — 6 481 | )II¥EA (ER)
71717 714277 56.0 (11/2) 0 ﬁﬁ;%
L7 N=HAL U= BiTO-FANT R A
S 5 4t 4 | LBTHEER 1:53.8 4-4-5-6 | 40.0| — 9 442 | WLOiEE ()
8/5|5 Y =R =" 54.0 (2 1/2) (-3) BERRT
R:ANTNGZR B:Y—F—Fy K {Hikse]
Spa = S~ oo K B ABR :55. -1-5- . — BR¥E (A
9/8/9 Y F=—T73ITY "7 gg_o 1(535)1 1157 41.6 ! :?10) Hﬁﬁ;ﬂ%
LY TLAZ BxT7MYIL— AU
® I—F—@EBIERL
13—4— 9,4,1,5,2,8,6,3,7
Ao=5"= 9,4,1,5,(2,8),(3,6),7
3T—7— 4,6,1,8,(5,9),7,2,3
43—+ — 4,6,1,8,7,5,(2,9),3
[ N5
B 4 490H 794K 4-6 600F & 4-6 1,370M &R 1-4-6 3,810
7 B 4 170 1-4 970 | | B = 4-6 1,570 | | &8 4-6-1 18,640
6 170M 1-6 650/ B H 4-6 2,390
1 250

ABICOVWTRDTEEERROODE. TR LIV,




